Table 142:8y series

Table 142: 8y series

p z=Mp x=2P1 PN = xz y=x-1 8y n=2P4 8yn=CR=xy
2 3 2 6 1 8 0.25 2
3 7 4 28 3 24 0.5 12
4 15 8 120 7 56 1 56
5 31 16 496 15 120 2 240
6 63 32 2016 31 248 4 992
7 127 64 8128 63 504 8 4032
8 255 128 32640 127 1016 16 16256
9 511 256 130816 255 2040 32 65280
10 1023 512 523776 511 4088 64 261632
1 2047 1024 2096128 1023 8184 128 1047552
12 4095 2048 8386560 2047 16376 256 4192256
13 8191 4096 33550336 4095 32760 512 16773120
14 16383 8192 134209536 8191 65528 1024 67100672
15 32767 16384 536854528 16383 131064 2048 268419072
16 65535 32768 2147450880 32767 262136 4096 1073709056
17 131071 65536 8589869056 65535 524280 8192 4294901760
18 262143 131072 34359607296 131071 1048568 16384 17179738112
19 524287 262144 137438691328 262143 2097144 32768 68719214592
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p z=Mp x=2P1 PN =xz y=x-1 8y n=2P4 8yn=CR=xy
Table As to why we are looking at “y?” Only “p” is smaller amongst the 10-parameters that define each and every Mersenne Prime Square (MPS). “y” and
l_:f;egy “2” follow very similar paths in that both are the natural Running Sums (3) of the Exponential Power of 2 as presented in The Butterfly Fractal 1

(and 2) as — 1-3-7-15-31-63-127-255-511-1023-2047-4095-8191-. We know that y=x-1, that’s right y+1=x. y=z-1/2, that’s right, 2y+1=z. y=z-x, that’s
right y+x=z. y=CR/x, that’s right yx=CR=xy... What else can “y” tell us about the MPS parameters? If one multiplies “y” times 8n, where n=2P4one
finds it equals the CR=xy of its own “container” as 8yn=CR=xy. n=2P+4 is really just the BF1. We also know that the BF1 informs the PN , and,
2PN=CRunext, SO0 we have come full circle. To distinguish TRUE from Not-TRUE (“container-only”) parameters: ALL TRUE x/4—y/3—z/B3—PN/4—CR/4
while Not-TRUE x/4—y/3 or w3—zf3—or z/3—PN/4—CR/4. As one can see, the TRUE MPS have stricter rules than the Not-TRUE “container-only”.

The “on/off” switch alternates sequentially along the “containers.”
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